
Y

.$7$�3(1*$17$5

3XML�V\XNXU�SHQXOLV�SDQMDWNDQ�DWDV�NHKDGLUDW�$OODK�6:7�\DQJ�WHODK�PHOLPSDKNDQ�

UDKPDW� GDQ� NDUXQLD�1\D� VHKLQJJD� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ� 7XJDV� $NKLU�

GHQJDQ� MXGXO� ³5$1&$1*� %$1*81� $66(7� 0$,17(1$1&(� 6<67(0

0(1**81$.$1�23(1�6285&(�(53�'(1*$1�0(72'(�48,&.67$57

3$'$�580$+�6$.,7´ VHEDJDL�VDODK�VDWX�V\DUDW�XQWXN�PHQ\HOHVDLNDQ�SURJUDP�

VWXGL�6��6LVWHP�,QIRUPDVL�)DNXOWDV�5HND\DVD�,QGXVWUL�8QLYHUVLWDV�7HONRP� 'DODP�

SHQ\XVXQDQ�7XJDV�$NKLU�SHQXOLV�LQJLQ�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD�

�� ,EX�$VWL�$PDOLD�1XU�)DMULOODK��%00���0�6F��72*$)�VHODNX�GRVHQ�ZDOL�

\DQJ�WHODK�PHPEHULNDQ�ELPELQJDQ�GDQ�PRWLYDVL�VHODPD�SHQHOLWL�EHUNXOLDK�

GL�8QLYHUVLWDV�7HONRP�

�� ,EX�:DULK� 3XVSLWDVDUL�� 6�3VL���0�3VL�� VHODNX� GRVHQ� SHPELPELQJ� ,� GDODP�

\DQJ� WHODK� PHPEHULNDQ� ELPELQJDQ� GDQ� DUDKDQ� VHKLQJJD� SHQHOLWL� GDSDW�

PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�

�� %DSDN�0XKDUGL� 6DSXWUD�� 6�67���0�7�� VHODNX� GRVHQ� SHPELPELQJ� ,,� \DQJ�

WHODK� PHPEHULNDQ� ELPELQJDQ� GDQ� DUDKDQ� VHKLQJJD� SHQHOLWL� GDSDW�

PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�

�� %DSDN� <RIDQV� 'ZLVSULKDQGLMDW�� 6�6RV��� 0�VL�� VHODNX� NHSDOD� VXE� EDJLDQ�

NHSHJDZDLDQ� GDQ� SHQJHPEDQJDQ� 6'0� GL� 568'� 6RUHDQJ� \DQJ� WHODK�

PHPEHUL� NHVHPSDWDQ� NHSDGD� SHQXOLV� XQWXN� PHODNVDQDNDQ� SHQHOLWLDQ� GL�

568'�6RUHDQJ�

$WDV�VHJDOD�NHNXUDQJDQ�GDODP�SHQXOLVDQ�7XJDV�$NKLU�LQL��SHQXOLV�PHPRKRQ�PDDI�

GDQ�PHQHULPD�VHJDOD�EHQWXN�NULWLN�GDQ�VDUDQ�\DQJ�PHPEDQJXQ��$NKLU�NDWD�SHQXOLV�

EHUKDUDS�7XJDV�$NKLU�LQL�GDSDW�EHUPDQIDDW�EDJL�\DQJ�PHPEDFDQ\D

%DQGXQJ�� ���-XQL�����

,NKVDQ�+HUPDZDQ


